m

n

TECHNOLOGY

www.injen.com

Tools required:
1- 8mm nut driver
1- 10mm socket
1- ratchet

Part number PF7024
2017-2022 GMC Canyon
2017-2022 Chevrolet
Colorado Vé 3.6L

1- 1 piece MR Tech Intake System
1- 3.5” Dry filter #1021BB (PF7024P/PF7024WB)
or 3.5” Oiled filter #1021BR (PF7024P/PF7024WB)

1- Step hose (#3124)
2- #56 Clamps (#4005)
1- M6 vibra mount (#6020)
1- M6 washer (#6010)
1- M6 nut (#6002)
2- M4 button head screws (#6047)

1- 15mm hose @ 6’L (#3079)

4- page instruction

This MR Tech Tuned intake system is
designed to be used with original Injen
parts.

Note: The C.A.R.B. Exempt sticker must be
attached under the hood in a manner such
that it is easily viewed by an emissions

Congratulations! You have just purchased the best engineered,
dyno-proven cold air intake system available.
Please check the contents of this box immediately.

Report any defective or missing parts to the Authorized Injen
Technology dealer you purchased this product from.
Before installing any parts of this system, please read the instructions
thoroughly. If you have any questions regarding installation please
contact the dealer you purchased this product from.
Installation DOES require some mechanical skills. A qualified
mechanic is always recommended.
*Do not aftempt to install the intake system while the engine is hot.
The installation may require removal of radiator fluid line that may
be hot.
Injen Technology offers a limited lifetime warranty to the original
purchaser against defects in materials and workmanship. Warranty
claims must be handled through the dealer from which the item was
purchased.
Injen Technology 244 Pioneer Place Pomona, CA 91768 USA

Please check the contents of this box immediately.
Note: This intake system was Dyno-tested with an Injen filter and

Injen parts. The use of any other filter or part will void the
warranty and CARB exemption number.

Injen strongly recommends that this system be installed by a professional mechanic.

Note: The installation of this air intake does require mechanical skills. Removal of the front bumper may be required. if
the removal of the front bumper requires loosening and removing several plastic plugs and screws that may be difficult.
In addition to removing the bumper, you will also have to remove the air resonator box, battery and tray when beginning

this installation.

MR Technology, “The World’s First Tuned Intake System!”

Optimum performance, Factory safe air/fuel ratio.

Page 1 of Part# PF7024

(Patented)

2

Figure



A) Loosen the clamp on the throttle body using 8mm nut
the airbox. B) Disconnect the crankcase coupler line  driver.
from the air box.

y . Ve
Loosen and remove the 2 nuts holding in the bottom A) Disconnect the vacuum line in front of air box. B) On the front of the engine cover next to the fitting,
air box using 10mm socket and ratchet. Loosen the 10mm bolt on side of the engine cover. loosen the 2nd screw holding in the engine cover
using 10mm socket or wrench.

10

With 10mm socket and ratchet, loosen the screw on Remove the oil cap.
the back of the engine cover and remove.

N TS =
A) Remove the oil cap. B) Now lift up and remove the A) Now lift up and remove the airbox. B) Now install ~ With clamps provided, attach the step hose to the
engine cover from the vehicle. the oil cap to the engine. throttle body. Tighten the clamp on the throttle body
only using 8mm nut driver.

Page 2 of Part# PF7024




P Ny
== Z "i._:‘_} )‘;:f‘ ‘

2* -
(o

N

-

Thredded
a5 )' P stud
Figure 15 2

Locate the thredded stud on engine. With provided M6
vibramount, secure to the engine.

g -

N

Figure 18 &

A) Now install the MAF sensor into the intake tbe. A) Install the intake tube into the vehicle and position =~ Now secure the bracket using provided nut and fender
B) Secure the MAF sensor using provided M4 button the bracket to the vibramount and tube to the step washer. Secure and tighten using 10mm wrench.
head screws. hose.

Figure 22 = g ¢ ‘ -~ 4

Remove factory coupler of the plastic 90 degree fitting.  Connect the vacuum line to  Congratulations! You have just completed the installation of this intake system.
With provided 15mm attach the hose to the plastic 90 the fitting on the intake tube. Periodically, check the alignment of the intake, normal wear and tear can cause
degree fitting and fitting on intake tube. Re-connect the MAF sensor nuts and bolts to come loose. Note: Check clearance and adjust if needed!
harness. Install air filter and  Failure to check the alignment and adjust the intake can cause damage
tighten using 8mm nut driver. that will void the warranty. Injen Technology is not responsible for an
damages caused by/from improper installation. ..

1. Upon completion of the installation, reconnect the negative battery terminal before you start the engine.

2. Align the entire intake system for the best possible fit. Once the intake has been properly fitted continue
to tighten all nuts, bolts and clamps.

3. Periodically, recheck the alignment of the intake system and make sure there is proper clearance around
and along the length of the intake. Failure to follow proper mainentance procedures may cause
damage to the intake and will void the warranty.

4. Start the engine and listen carefully for any odd noises, rattles and/or air leaks prior to taking it for a test

drive. If any problems arise go back and check the vacuum lines, hoses and clamps that maybe causing
leaks or rattles and correct the problem.

5. Check the filter for excessive dirt build up. Clean or replace the filter with an original Injen filter (can be
bought on-line at “injenonline.com”). Congratulations! You have just completed the installation of the best
infake system sold on the market. Enjoy the added power and performance of your new intake system.

Page 3 of Part# PF7024




1ay3o ou a1l Jayly
pue wuiopad o} paubisaq
S13}|14 JO UoleIdUAY) MON Y

0
/(.. \ 3 ff
3 3
| //m

N

s

0 4214

auea)) oy
~ g iy PR

110 1oy
PeL ydiy

AL ..,..m_a

"'suonansui buiuea|s uajjiy 10j wod-ualul }ISIA asea|d

( -aoueus)uleW 4104 UOIINJOS BujuLaD 10 J9)eM BSN URD Id)[I} SIYL )Y d40)sal udlul asn aseajd ‘10 aiinbau siad}jiy azneb uoj3o0d pajiQ)
49)]14 1Y P3JIO Alojoe :id)l) BIpaW PaY

( 31 @403sad ualui io 4do)em Buisn uead Jou op asea|d Jie passaidwiod jybij 10 wnnaea e buisn paues|d aq ued asayj ‘10 ou aldinbai siayly Aig gaa ouepnadng)

‘paiinba. |10 ou “d)1d Ay Aiqg :1d}[I} elpaw anjg
jooueuvjuIew buluea[o Aue 810joq Jo}]ij JNOA AJII9A F1ON

31MN} AUE JO] A|[qUISSSE XOq JIE AJO}Jo€] JNOA d99y aseald ‘Aemybiy Jo J9aus 21ignd e uodn pasn aq Jarau Aew yaiym ‘Ajuo asn|
uonadwod sajoiyaA buioels 1oy Ajuo eluioye) ul [ebaT], palapisuod aq ||IM 32IyaA asay| ‘sAemybiy Jo speol o1ignd uo asn 10y} 9|o1IYyaN
JnOA Ul wa)sAs ayejul ualu] ue jJo asn |ebs| ay) 10} ('O’ gYVD) JequunN JaplQ BAINDaXT pleog 821N0Say JIy elulojije) ue adinbal [jIm
so)els 9say | "uolBuIyYSBA)\ PUB ‘JUOWIBA ‘puB|S| 8poyy ‘BlueAjAsuuad ‘Uobal) “YJOA MBN ‘00IXB|\ MaN ‘Aastor mapN ‘spasnyoesse|
‘puelfiepy ‘aulely ‘elquinjo) JO JouISIQ ‘INDIIDBUUO0Y ‘BIUIOED ‘BUOZIY :9pN[ouUl SpJepue)s Uoissiwe eluloyje) paydope

aAeY ey} S8le)S ‘spJepuels suoissiwg elulojiien o} Bundope si a)1e)s 8y} sSajun sale)s }sow Ul [ebo| 19aJ)s ale swalsAs ayejul ualuj




